
 

 

𝑦نیستند، ب ـ  الف ـ  ـ1   = 𝑘  (k   ج ـ مقسوم، دـ ،)ثابت
1

3
 

 الف ـ )پ، پ( )ر، پ(، ب ـ )پ، ر(، )ر، ر(، )ر، پ(، جـ )ر، پ(، )ر، پ( ـ 2 

 ـ 3 

2𝑥 − 3 = 0 → 𝑥 =
3
2

 → 4 (
3
2

)
3

− 2 (
3
2

)
2

+
3
2

+ 𝑎 = 0 

4 ×
27
8

− 2 ×
9
4

+
3
2

+ 𝑎 = 0 →
27
2

−
9
2

+
3
2

+ 𝑎 = 0 →
21
2

+ 𝑎 = 0 → 𝑎 = −
21
2

 

 ـ 4 

مساحت  نیم کره = 2π𝑅2 + 𝜋𝑅2 = 3𝜋𝑅2 → 3 × 𝜋 × 100 = 300𝜋 

 

 ـ 5 

{
𝑂1̂ + 𝑂2̂ = 180
𝑂2̂ + 𝑂3̂ = 180

→ 𝑂1̂ + 𝑂2̂ = 𝑂1̂ + 𝑂3̂ → 𝑂1̂ + 𝑂3̂ 

 

 ـ 6

3𝑘 − 1 =
6

3
→ 3𝑘 − 1 = 2 → 3𝑘 = 3 → 𝑘 = 1 

 ـ 7 

30 (الف  (
𝑥+1

5
−

5𝑥

2
≥

2𝑥+1

3
) → 6(𝑥 + 1) − 15(5𝑥) ≥ 10(2𝑥 + 1) 

6𝑥 + 6 − 75𝑥 ≥ 20𝑥 + 10 → 6𝑥 − 75𝑥 − 20𝑥 ≥ 10 − 6 → 𝑥 ≤
−4
89

 

4𝑥2 (ب + 1 − 4𝑥 + 9𝑥2 + 1 + 6𝑥 ≥ 5𝑥 + 3 → 13𝑥2 + 2𝑥 + 2 ≥ 5𝑥 + 3 

 

 

 

  

 

o 



 

 

ـ   8    

3𝑎−1 (الف = 4 →
3𝑎

3
= 4 → 3𝑎 = 12 → 33𝑎 × 33 = 123 × 33 = 36 × 43 

 (ب   
4

2√147−√12
=

4

14√3−2√3
=

4

12√3
=

1×√3

3√3×√3
=

√3

9
 

   ـ 9 

2 −
3 −

1
6

1 +
1
3

= 2 −

17
6
4
3

= 2 −
51
24

=
−3
24

=
−1
8

 

   ـ 10 

 (الف

2𝑎 + 3𝑎 − 3
𝑎(𝑎 − 1)

𝑎2 + 𝑎2 + 𝑎
𝑎2 + 𝑎

=
𝑎(5𝑎 − 3)(𝑎 + 1)

2𝑎2(𝑎 − 1)(𝑎 + 1)
=

5𝑎 − 3
2𝑎(𝑎 − 1)

 

 

 (ب
𝑥𝑦2(12𝑥𝑧2 − 2𝑦𝑧4 + 5𝑥3𝑦)

−𝑥𝑦2 = −12𝑥𝑧2 − 2𝑦𝑧4 + 5𝑥3𝑦 

 ـ 11 

 

𝑎 = 8𝑥 

 

 

 ـ 12 

{
2𝑥 + 3𝑦 = 7000
𝑦 = 2𝑥 − 1000 →

−
{

2𝑥 + 3𝑦 = 9000
−2𝑥 + 𝑦 = −1000 → 4𝑦 = 8000 → 𝑦 = 2000 

2𝑥 + 6000 = 7000 → 2𝑥 = 1000 → 𝑥 = 500 
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 ـ 13

𝑥3 + 𝑦3 = (𝑥 + 𝑦)3 − 3𝑥𝑦(𝑥 + 𝑦) = 203 − 3(12)(20) 

→ {
𝑥2 + 𝑦2 = (𝑥 + 𝑦)2 − 2𝑥𝑦

13 + 𝑥𝑦 = 202 − 2𝑥𝑦
→ 𝑥𝑦 =

387
3

= 129 

 ـ 14 

𝑦

𝑦 + 4
=

6
6 + 𝑥

=
12
18

→ 2(6 + 𝑥) = 3 × 6 → 12 + 2𝑥 = 18 → 2𝑥 = 6 → 𝑥 = 3 

𝑦

𝑦 + 4
=

2
3

→ 2𝑦 + 8 = 3𝑦 → 𝑦 = 8 

 ـ 15 

52(2𝑋−1) − 3 × 52𝑥−1 − 5 = 0 → 52𝑥−1 = 𝑋 → 𝑋2 − 3𝑋 − 5 = 0 


